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H & 0l & A E Al A
2020 S S0lAr LS| KX E Dt
SM: XX E D
HE: 2% NEE2I| EH
el =2 9 2o B (S5 &2
- _ - &
SA - SRA(SAH) - HRAY - HES Ol &4 'Oﬂ'@oEu HuE2
KX 83 0t 53,060,720 51,550,004 1,510,626
= 258, 123
= 612,921
2 52, 189,676
2|8 NEE2I| X4 2,039,082 2,137,387 98,305
=2 9 Qo B 190,410 182,110 8,300
gxeg 9 Borsx e 174,810 173,610 1,200
201 LBt Y| 174,810 173,610 1,200
01 AbR 22| bl 113,810 112,610 1,200
CIEEES 105,810
O==4g 77,190, 00021 *14! 77,190
oY g 28,620,000 *14! 28,620
ogxa= Y 7,000
OAIEH| 500, 0002 123 6,000
o=l 1,000, 00021 *14! 1,000
OTHAZLT TI= 7Y 500, 0002 29! 1,000
02 222l 61,000 61,000 0
O SOUABIAIAE STI22IH|
61,000, 00021 *14! 61,000
2EBRINAY 2 15,600 8,500 7,100
201 LBt Y| 15,600 8,500 7,100
02 222l 15,600 8,500 7,100
O2ENBRINAEY SXS% 15,600,008 14 15,600
=EICEIES 1,177,880 1,382,735 204,855
NE O A 29 27,000 25,400 1,600
201 LBt Y| 27,000 17,000 10,000
01 AbR 22| bl 10,000 0 10,000
oNE N 1S 50,0002 2002 10,000
03 #AI2 b 17,000 17,000 0
OFX BOISHE 2L 17,000,000 14! 17,000
ne solRley N 49,600 34,600 15,000
201 LBt Y| 29,600 9,600 20,000
01 AbR2t2|H] 9,600 9,600 0
©21=0f stES0tl BASY
400,002 284 » 128 9,600
03 #AIS bl 20,000 0 20,000
OM138 YT B2 HILIAHE HE
20,000, 00021 *14! 20,000
202 04t 20,000 20,000 0
01 2LH0i | 20,000 20,000 0

- 235 -




SA

@ 2)|a NI XY
ool NP =25 (S5 &2
- _ - &
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
OXNZF =otel 245t Hal ot Aa ofb]
20,000, 00021 *14! 20,000
PES 2NHE 2 900, 280 865, 175 35,105
201 LBt | 900, 280 865, 175 35,105
01 AbR2t2|H] 280 0 280
OYYRSH=RLSYBAS QIAAN B
70,000+2% x23| 280
04 HEHETRIS AL 900,000 865, 175 34,825
OLEY =N 018 L SHEBHEH It
900,000, 00021 * 14! 900,000
Mg sy X 130,000 130,000 0
202 04 b 130,000 130,000 0
EEEEELT] 30,000 30,000 0
O2HLE Al L 3]0 &A
30,000, 00021 +14! 30,000
04 2 HISH01 | 100,000 100,000 0
OYUPS B4 FHeloi4 U HIXIOHY
100,000,0002 14! 100,000
2DHoFS =0 1,000 1,000 0
309 ME3 1,000 1,000 0
02 ZRAHSIBUILAES 1,000 1,000 0
CIIES=E=F 1,000, 00021+ 14! 1,000
SN 70,000 70,000 0
307 212401 & 70,000 70,000 0
VEENEE 70,000 70,000 0
OTHHS4 L 2 S0 70,000,000 14! 70,000
OINBY 2 369,642 133,892 235,750
OIAEE el 16,290 12,540 3,750
201 YBr2 Y| 11,290 12,540 A1,250
01 AbR22IH] 11,290 12,540 A1,250
OQINPIRE EASY 70,0002 #501143] 4,900
OYUBAIE HESIRASY 100,000 501 x43] 2,000
OB} 25 2 7,00024%270¢! 1,890
0BLAUS 22 25,0002 +100¢! 2,500
203 YRF Y| 5,000 0 5,000
EEESEEEST 5,000 0 5,000
oINS =X 5,000,00021 %14} 5,000
X 9 ol e 353,352 121,352 232,000
101 Q1248 52,000 52,000 0
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M AHXSEED
Ha: 2|8 NI EY
Sl QAR 29 CEERE
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
04 JI12tH22 RSB+ 52,000 52,000 0
QJIZHHZ22 X &&Z2 25,000, 000 14 25,000
OUHMe=E eI 1,800, 000& *5Q1x3& 27,000
201 et Fy| 29,352 26,352 3,000
01 At 22|l 8,000 5,000 3,000
Q&Y oM B 24| 8,000,000 =14 8,000
02 23234l 21,352 21,352 0
OHTSE A 2HElbl 21,352,000 =14 21,352
203 PR F2Y| 45,000 35,000 10,000
03 Al =X 2= XH| 45,000 35,000 10,000
OXHP2 U RHFEQAM FZ
40,000,000 14! 40,000
OFR U AR AlY =7
5,000,000 =14 5,000
207 & 20 Y| 200,000 0 200,000
01 A7 E | 200,000 0 200,000
OXLSA 88 EIEd ZAF B2Y
200,000,000& * 12l 200,000
308 AtXIEHHSOIA 27,000 8,000 19,000
10 S| 2 SOICHEH 2 & & 2 EF AL HI 27,000 8,000 19,000
OHEZFXNLAATEAALY RAES
27,000,000 =14 27,000
283 =4 288,000 426,000 A 138,000
A WA X3 288,000 426,000 A 138,000
201 LBr2Ed| 220,000 150,000 70,000
01 AL 22l bl 220,000 150,000 70,000
O3R¥ WUs=HIZ U=
100,000,000 *14] 100,000
oA NHMUE |IEZH
120,000,000 *14] 120,000
202 o44| 68,000 276,000 A208,000
01 = LHGYI 68,000 78,000 210,000
ONOIL & 3& FA0iY
68,000, 0002 14 68,000
Lazel 13,100 12,600 500
cxgs & 13,100 12,600 500
201 LBr2Fd| 13,100 12,100 1,000
01 AL 22l bl 6,100 6,100 0
O A2 23 2,000,000 14 2,000
OLRALZ 3,600,000 =14 3,600
O22d L= 2HH3 20,0003 *521 53] 500
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A XX

=EE %3:§O§§§$—IDI ESE
ol Cx e EERE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
03 A2 S H 7,000 6,000 1,000
OFIIAHSA MSEA 7,000,000 14 7,000
ANAHEE g At 1,460,922 1,802,071 A\341,149
= 29,387
= 46,183
i 1,385,352
A2 SA -3t X2 281,657 269,634 12,023
= 29,387
= 10,000
= 242,270
AASAMUEH 2S X 169, 113 156,858 12,255
307 212+l 169, 113 156,858 12,255
03 elZtHMEE2SHIEx 169,113 156,858 12,255
OXESAIEH 2124 121,903
OAR=& 22| 54,710
-JlEs 2,827,000& *12& 33,924
-+=g 1,026,416 122 12,317
-EIANES 330,000 x12& 3,960
=g 375,750 128 4,509
O & oA 49,875
-JlEs 2,500,400 «12& 30,005
-4 1,010,6662 123 12,128
-EIANES 302,000 x12& 3,624
-“4U=E8= 343, 1663« 122 4,118
OZ 0 I 17,318
-+=g 641,583 x12& »2Q! 15,398
—“4U=E8= 80,0002 123 22! 1,920
OXASAIE 23 47,210,000& =14 47,210
XA S AKX X2 33,770 26,770 7,000
307 212+l 33,770 26,770 7,000
02 QIZtHAAIRE & 33,770 26,770 7,000
OXHASALAHEIE At X2 33,770
OX&SALA THE! 4,700,000 14 4,700
OXASALAL T2l JHAl 5,320,000& 14 5,320
OME2AE D™MFIIALY 1,000,000 9t 9,000
OXNESAA &2 3tn=F 1,650,000 14 1,650
OXESALA ESKIE 3,000,000 =14 3,000
OXESALA & - 8=0HE A
2,300,000& =14 2,300
OXESAHA 28HHE MY X
7,000,0003 14! 7,000
O S A ellolAH XIZ 800,000 =14 800
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fMd: X
3 X
ol X

: - . YE]
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
H2 S8 UAZAEE Ot HHlA X (2D) 774 744 30
= 387
2 387
307 glztol A 774 744 30
= 387
2 387
02 QB AAIHE X 774 744 30
OXASAA E8E K& 774,000 * 14! 774
= 387
2 387
A2 SAF 2OIUIOIE ALY X2 - S4(=1) 58,000 55,262 2,738
= 29,000
2 29,000
307 glztol A 58,000 55,262 2,738
= 29,000
2 29,000
02 QB AAIHE X 58,000 55,262 2,738
OXASA DCIUIOIE XI& 29,000,000 20! 58,000
= 29,000
2 29,000
T2 SAL 43t F=& 20,000 30,000 A 10,000
< 10,000
2 10,000
307 glztol A 20,000 30,000 A 10,000
< 10,000
2 10,000
02 QB AAIHE X 20,000 30,000 A 10,000
ONZ NFSA T2 29
20,000, 000& *14] 20,000
= 10,000
2 10,000
HEIs 23t 180,816 294,092 A113,276
NFZa8ols X 13,170 4,000 9,170
201 2ot G| 13,170 4,000 9,170
2 ZZ2Y| 13,170 4,000 9,170
OHZANFBATHIES 23
7,000, 0003 14 7,000
OSZ YNEENElE 223
2,000, 0003 * 14! 2,000
OSaZ TYYNY 2E BSUTBY 2L
4,170,002 * 141 4,170
A OF el 79,000 75,000 4,000
201 2ot | 79,000 75,000 4,000
01 At 2teltl 79,000 75,000 4,000
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SN RRED
o A A Lt
Sl IS st (S5 &2
: - . YE]
SA - EHH . C(S) - MRAY - BAS Ofl &4 S HI DS
CEEEIEELS 10,000,000 14! 10,000
OEI=0l & 21 S 29 10,000,000 14! 10,000
OABHA L AT Y42 FX
50,000, 00021+ 14! 50,000
ORsA U H2A 2HH 6,000,000 14! 6,000
OEFF U M HME 10,0002 *3000H 3,000
#EN2 22 85,646 212,002 £126,446
201 LBt Y| 63,646 52,002 11,564
01 AbR2t2|H] 18,046 17,002 954
©JIZ2LItACIE 4Z 70,0008 20123 280
CEEE=S NS, 70,0002 *3% +63] 1,260
OJ|=Z BEND HELHAE 2
43,0002 %15 1274 516
OSH MHHMND HELHAZ 7
43,0002 +15] 1874 774
©II=B FEAND L VHAND ASAHE D
45, 10024 %431 +404 7,216
OII=B PEND AS L SN Y
3,000,00024*13| 3,000
OSY NHHD A5 L 2XHH B
4,000,000 #13| 4,000
©J1=2 BEND SZHl 1,000,000 14! 1,000
02 ZZ2YH| 45,600 35,000 10,600
OJIZ HIBEND L H22ZEND 285
ol fxEs 89 3,600,000% * 14! 3,600
0= M2BZEAD 2887 0K
10,000, 0008! 14! 10,000
OEZEI=BEUAILY X2 B
32,000,002 * 14! 32,000
405 XH&HF St 22,000 0 22,000
01 MU SBH S| 22,000 0 22,000
OEEII=BEUIAILY Ag2IX B4
22,000,000% * 14! 22,000
olEHE =8 = 3,000 3,000 0
201 LBt Y| 1,500 1,500 0
01 AbR2t2|H] 1,500 1,500 0
02N ZEET AR
1,500, 00021+ 14! 1,500
202 01| 1,500 1,500 0
01 201 | 1,500 1,500 0
OCZ#Y Z&=F ofdl 100,000 30153 1,500
T N 83,200 83,200 0
= 3,780
2 84,420
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M AHXSEED
M GRS o 23
chel: Xdge XA (el &3
: s . &
SN B CR(BH) - MRAY - BES 0l et S dImEET
b= 4 & sSgggads 29 A2 75,600 75,600 0
201 et Fy| 3,600 3,600 0
01 AtR2teltl 3,600 3,600 0
OUHIZSUHAIRA 23| 300,000& x12& 3,600
203 PR F2Y| 37,000 37,000 0
03 Al =X R FXH| 37,000 37,000 0
ozZagdg R =& 37,000,000& *14] 37,000
308 AtXIEHHSOIA 35,000 35,000 0
09 I Z2SEXNIBNES 35,000 35,000 0
oudl=z 84 XA 35,000,000 14! 35,000
o2 S&X& 12,600 12,600 0
& 3,780
s 8,820
403 XIS SAH201H 12,600 12,600 0
& 3,780
s 8,820
03 HbZsS4dXNAXNSEER 12,600 12,600 0
QuldlzZ SEXAAY 12,600,000& 14 12,600
& 3,780
s 8,820
MM 2= 594,467 837,629 A243,162
& 30,000
s 564,467
felz2lstes =8 25,000 3,400 21,600
201 et Fy| 24,000 2,400 21,600
01 At 22|l 24,000 2,400 21,600
OEH3JI0ts 2SN 4,000 30001 =23 2,400
O NHaAx M2 B
18,000& 100128 21,600
202 04l 1,000 1,000 0
01 =G YI 1,000 1,000 0
O=2 R22es2s =& 3 FA
100, 000& 221 x53] 1,000
ALl 2 N 50,000 50,000 0
301 LEEF 35,000 35,000 0
04 Mt HUAYI XA 35,000 35,000 0
oXnsgHH(SY) =4l X
35,000, 0002 =14 35,000
307 QI2+0I A 15,000 15,000 0
02 QIZtAAMAIHE X 15,000 15,000 0
OLAZANSLHASH At X2 15,000
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A X E
M XHXIE

el ZHESEMH 2= (el &3
- _ - &
SN B CR(BH) - MRAY - BES 0l et S dImEET
OXRIBXUE M=l 10,000, 0003 * 14! 10,000
OZ&z H2FAUa ot
5,000,000& 14! 5,000
FRI12 L QAR 29,000 32,000 A3,000
201 LetEdy| 20,000 20,000 0
01 At 22|l 20,000 20,000 0
O=2J/ &3 & HESRI MEFA
20,000, 000& 14 20,000
202 O4Hl 9,000 12,000 A3,000
01 = LHGYI 9,000 12,000 A3,000
ORI L3 0dHl 300,000 *321%103! 9,000
=& 0 KA 351,677 239,299 112,378
301 YPYBNZ 29,830 29,830 0
03 2ol =2 A YA B 29,830 29,830 0
OLAZASAUU AYII=B3AHUHE N
15,000, 000& » 14! 15,000
oo AN AR &It XA
5,000,000 =14 5,000
oo d=03 &It N
3,000,000 =14 3,000
OLUZAZAEN ST L OF2t=F K&
6,830,000& 14! 6,830
307 QI2+0I A 221,847 209,469 12,378
02 QIZtBAAIEE X 66, 160 60, 160 6,000
OY X IIGHAXI 2 HIE At HI
15,430,000 14 15,430
Ofl=E3SLNE2 AL A2 2s A
14,910, 000& » 14! 14,910
O =2NREHUAAZIIZ] AL
4,320,000 *14] 4,320
OB P2 A2 SHAR DB 0I5 AF Y]
8,700,000& 14! 8,700
OgdAMAR I ArHHI 5,510,000& 14! 5,510
OLAZMeE=20s ArHHI 7,800,000& 14! 7,800
OHtZ2AHII2SLAZE 23S A
9,490,000 =14 9,490
03 QI E2AHIEXR 143,267 149,309 26,042
OY X O At XIRAME 2FH|
3,800,000& 14! 3,800
OY XTI At XIRAME 2| 8,000
OARHE el24d] 8,000
-Jl2=s 702,460% x4 & 2,810
-a0= 3,850,000& 14! 3,850
-E AN Z 321,000& x4 1,284
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A X E
IAINE=

X EH SHA oz 2t
G ZYEENM 2= (et &R
SN EHY - (SH) - MBAY - BAS O &+ 04 e HRS2
A EE 56,000 * 14! 56
OHIEANAD | 2SLAZE 2T 29|
6,179,000& » 1Al 6,179
OHIEANAD | 2SLAZE 2 21| 25,818
OAR=2E ol2H| 25,818
-JlE23 1,745,0002 12& 20,940
-2 500,000 *43] 2,000
A2 E 239,833& x12& 2,878
OXNFESAUAAZXIG SHH|
7,801,000& 14! 7,801
OXNFESAHAUAAZXIZ 12| 25,876
OARE o1AHH| 25,876
-2z 1,200,000 *12& 14,400
&3 1,200,000 43| 4,800
—=G 230,000 ~12& 2,760
-E| &AM 2 152,500 «12& 1,830
-AEE 173,833& x12& 2,086
OLAZAMOISE 22| 31,620
OAR=2E ol2H] 31,620
-J|lE23 1,167,000 x12& 14,004
-G 1,097,750 122 13,173
-E8NE 2 209,2483 x12& 2,511
-AEE 161,000 «12& 1,932
OAxAZMOISE 29| 6,373,000 *1A! 6,373
OYAIRIE 20T SHH| 3,600,000 » 14! 3,600
OYAZISZ0IF OlAHH| 14,400
O&aZ A3 21| 14,400
-JlE23 1,200,000 x12& 14,400
ORITHIISUXSE| o|AuAREOl5 ClAHH| 4,800
O#AEAE olH4H| 4,800
-G 400,000& x12& 4,800
ORIZTHIIS UK OAUUREOl5 29|
5,000, OOO%*V\' 5,000
04 CIZ2ISHAIAIE E X 12,420 0 12,420
OHIZEAHAD| 2_E Al.Z2 2 /35
12,420,000 » 14! 12,420
401 Al I 2 CH| 100,000 0 100,000
01 Al&H| 100,000 0 100,000
OB LIABAY AFRY &S
100,000, 000& » 1 A! 100,000
ENEE AIBFX 5,950 5,950 0
201 Lt | 5,450 5,450 0
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PPN =Rl
AXHE Ag Lt
2FEAMH 7S (B9 &2)
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
01 At 22|l 5,450 5,450 0
OHEAN =g 8= ¥ &% H&
5,450,000 14 5,450
202 04| 500 500 0
01 =L YI 500 500 0
OHEA =Y DT UL AOIL B
50,000& *221 53] 500
ol -2 - 2 WFRMAL F& 120,000 172,240 AB2,240
L= 30,000
i 90,000
201 LBt F| 20,000 10,240 9,760
03 SEAI2EH| 20,000 10,240 9,760
O34 =0t THHH AL 20,000, 000 * 14 20,000
401 A& HI YL 20| 100,000 162,000 262,000
& 30,000
o 70,000
01 Al&HI 100,000 162,000 262,000
O=2=RU=EXN & FHEXSA ZHIAY
100,000,000 *14] 100,000
L= 30,000
o 70,000
SN DS ADIIAIY K& 8,000 11,000 A 3,000
201 et gy| 2,000 3,000 A 1,000
01 AL 22l bl 2,000 3,000 21,000
O=&HHl DESIAMIIAY =&
2,000,000 1A 2,000
202 04| 1,000 0 1,000
01 =L YI 1,000 0 1,000
OESHH NesTMIIAY =& o]
100, 0003 »2021 *53] 1,000
301 LEEF 4,000 7,000 A3,000
09 HALAHIXIAZ 4,000 7,000 A 3,000
O=&HHl DEs|UAIIAIY XI&
4,000,000 *14] 4,000
307 SI2toI & 1,000 1,000 0
06 22 1,000 1,000 0
OSSCHMl DY At IR EEZ
10,000 100! 1,000
Eg0 gy 23 X& 4,840 10,240 A5,400
201 et Fy| 4,840 7,840 A 3,000
01 At 22|l 3,840 5,840 A2,000
Os&ol AXMYERZ =& 1,000,000 14 1,000
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A X E
M XHXIE

ool RYEEMN 2= (o &2
i, _ - P
SH-3H.S4A(S) - HIRAY - BAS Off &F om'&% Hlwsz2
OSSCHH LRT0Z2 LOAHIAIAE AR
2 70,0002 *12& 840
O=&0l &aH 29 2,000,0002 * 14! 2,000
02 SB2YH| 1,000 2,000 A1,000
OZ80l 2F 2229 1,000,000 * 14! 1,000
BoHE x4 159,266 163,482 A4, 216
I2HI0IE 29 153,766 155,482 ~1,716
101 Q124 153,766 154,122 ~356
04 JIHH22USES 153,766 154,122 ~356
OLHEHA Ot2HI0IE 124H 153,766
OSH eIl 76,7202 %3021 x 15 34,524
OsH F=54¢ 68,7202 x3001 x3 6,185
OS2 OI2HIOIEM 282 50,0008 «30Q! 1,500
OBHAH 2124 76,7202 %6021 20 92,064
OstH F=54¢ 68,7202 *6001 x4 16,493
OBHH Ot2HIOIEM 282 50,0009 602! 3,000
HEMHIABE 29 5,500 8,000 A2,500
201 LEr29 Y| 5,500 8,000 ~2,500
01 AFR 22| 5,500 8,000 ~2,500
OMBEAMNHIASEH =& 5,500
ORMAHE WX 100,000 %2504 2,500
ORI T A 3,000,0002 *14! 3,000
Bt Es X 102,544 104,920 N2,376
oty &5 24 102,544 104,920 N2,376
201 LBr29 Y| 6,000 1,000 5,000
01 At 22|y 1,000 1,000 0
oolEE M= 1,000,0002 % 14! 1,000
03 SHAIH2 Y 5,000 0 5,000
OUAZ 0|F CIHA OSSN TS
5,000,0002 * 14! 5,000
301 LBEAS 66,460 59,000 7,460
02 &st2Ystx=2 10,000 20,000 10,000
OO0IFXH &et2 1,000,0002 10! 10,000
09 SHAFALHIXI &2 41,460 39,000 2,460
OO0ISHE dgts 2YARAZQ &HA
2,000,0002 % 14! 2,000
OO0|Z Hdar2s 2 2HANRIE & 298
& 7,460,000 14! 7,460
O0ISE MRME EE235| &4
100,000 1021 %23 2,000
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SN RS
H: GHBE =2 U5
ol OIS XE (EEREED
- _ - &
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
O#=El OI=0I=0I2 S8 N=elt(018) =
LHEA == 30,000, 000& *14] 30,000
12 JIEHE &3 15,000 0 15,000
O0lE ALHA K& 250,000& *602! 15,000
307 glztol A 30,084 44,920 A 14,836
02 QIZtBAAIEE X 5,000 5,000 0
OYAT 0ISH S0ISCHEl &It
5,000, 0002 14! 5,000
04 QIRHHALAIRI E X 20,000 20,000 0
oA 0|EEOISUS 20,000, 000& *14] 20,000
06 283 5,084 9,920 A4,83
CHERS L= 41,0002 +1249! 5,084
MOFS X=X K& 47,152 44,114 3,038
= 2,403
2 44,749
MOFEXIEX 25 X 42,346 38,450 3,89
307 £I2HOI | 42,346 38,450 3,89
02 QIRHE AAIHE X 38,254 31,454 6,800
OMOI=23l At 22X 38,254
O=sAHZEUSE 2,000,000& 14! 2,000
ORESA DEZ, W OIS OS]
3,131,000 14! 3,131
OAtge ZEULSII 7,206,000 14! 7,206
OMOtEsl 22u= 4,080,000& 14! 4,080
OuWnZ e Jeld| 1,155,000& * 14 1,155
OLAZMOFSXITRITE 4,800,000 x14] 4,800
O&= MOIESXEXUE &It
4,588,000 14! 4,588
OBAT MOISXIE XS] &I}
2,840,000& 14! 2,840
o238 JIeH &Il 1,654,0002 %14 1,654
OMOISXIE R, 28l 225t o4
6,800, 0002 14! 6,800
06 23 4,092 6,99% A2,904
OMOIESXZAt &d 2= 31,0002 *132H 4,092
MOEXERG 54 4,806 5,664 A 858
= 2,403
= 2,403
301 LB HI 4,806 5,664 £858
= 2,403
= 2,403
02 Zst=Ysit3 4,806 5,664 A 858
OMOISXIS X Xt &B3  4,806,0002 14! 4,806

- 246 -




A XX

|C>C>
A GRS o2 23
el MOSXEXN K& (2l &)
- _ - &
SN B CR(BH) - MRAY - BES 0l et S HRE2
< 2,403
o 2,403
AHOE F& 6,820 0 6,820
AHINE FA 6,820 0 6,820
201 et Fy| 4,820 0 4,820
01 At 22|l 4,820 0 4,820
OTFANDHE R A A =
70,0003 «1321 %23 1,820
OTHINS &It 22 3,000,000& 14! 3,000
202 04l 2,000 0 2,000
01 =L YI 2,000 0 2,000
OEEHMMZ = HRFE oYl
200, 000& *221+53] 2,000
I nFEEdE 2l 149,350 136,060 13,290
2HLE 2¢ 25,500 25,300 200
=S X202 R 25,500 25,300 200
201 et gy| 16,500 14,500 2,000
01 At 22|l 12,500 11,500 1,000
O=U XHEAH TAl ¥ X SHAIsLL 2
10,000,000& * 14 10,000
OXZEA & 2SWTF TA IE 29|
2,500,000& 14! 2,500
03 EAH2ZH| 4,000 3,000 1,000
O=Uuxz At F& 1,000,000 =41 & Al 4,000
202 04l 5,000 4,800 200
01 =LHAYI 5,000 4,800 200
O=ZU NHZH L RS WFT TAl SoHAEH
olE ol 100, 000& 501 %43 2,000
OMES0tel =2UHLE &8s ol
2,000,000 =14 2,000
oOLAE A2 ¢l 1,000,000 14! 1,000
301 LB F 4,000 6,000 A2,000
07 2IeI=& (bl 4,000 6,000 22,000
O=Uus L2t 25 100,000& 402! 13| 4,000
FHNE 2< 123,850 110,760 13,090
2= XXISH2t BF 83,850 80,760 3,090
201 LetEdy| 16,350 13,760 2,590
01 AtR2teltl 1,600 600 1,000
O=ZHuE =923 S9dl 100,000 42! x43| 1,600
02 2322l 5,000 5,000 0

247 -




SA

F: I sy 2
tel: FMusE 249 (el &3
- _ - &
SN B CR(BH) - MRAY - BES 0l et S HRE2
OXIZ XM =M 23 (HERITAl
SXAIE 2 3l) 5,000,000& =13 5,000
03 SEAI2EH| 9,750 8,160 1,590
O=HMwuZzT At F& 2,000,000 *3JH kAl 6,000
Oxsstd E720F 2K 150,000 x254 3,750
202 04l 2,500 2,000 500
01 = LHGYI 2,500 2,000 500
O=MuwF AHECE 2IE Hl 2,500,000& 14! 2,500
203 PR F2Y| 20,000 20,000 0
03 Al =X 2= XH| 20,000 20,000 0
OAH L WIRANY F& 20,000, 000& *14] 20,000
301 LB F 45,000 45,000 0
07 2IeI=& (bl 20,000 20,000 0
O=HMuz &2t & 20,000, 000 * 14! 20,000
12 JIEtE A3 25,000 25,000 0
O=HMuFE= QI2tol (H|2 4t
25,000,000 14! 25,000
HAE FHWF 40,000 30,000 10,000
301 LB F 40,000 30,000 10,000
07 2lel=& bl 16,000 8,000 8,000
OFAY RASYDES BF
200,000& 402123 16,000
12 JIEt24 3 24,000 22,000 2,000
OFAE (S5, NSEY) SSYLE Ot
24 1,000,000& 242113 24,000
=0 a0l & sk X 654,025 206,060 447,965
FOUXXMEH 2 211,600 168,700 42,900
FURXME 2SN 211,600 168,700 42,900
201 et Fy| 180,000 153,000 27,000
01 AtR2teltl 170,000 130,000 40,000
O=CIXXIHEH 28| 170,000, 000& 14! 170,000
02 2322l 5,000 10,000 A5,000
OFRUXXHEH AIRA 2223
5,000,000 =14 5,000
03 EAI2ZEH| 5,000 13,000 A8,000
O FOUNXIRAY AL (2AAHS) 2
a5 5,000,000 =14 5,000
202 04l 1,400 1,400 0
01 =L YI 1,400 1,400 0
FOIRXIME 2t&Ea EFAX elsE
100, 000& #72! %23 1,400
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FA XIS
B 0l 40 B A X
ol FURXMEH 29 (et M2
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
301 2283 17,200 11,000 6,200
09 AL HIXI &S 17,200 11,000 6,200
O 4 FOUNXIME 248
5,000,000 =14 5,000
OFLUXXIHE S50t =AU FIt
5,000,000& * 14! 5,000
OWIERI= FOIRX SHtal &D
5,000,000 =14 5,000
Oz FLUNXIAY AL (MBS A
a5 20,0002 *110& 2,200
307 eI+l 13,000 0 13,000
04 QIZHHAAIR E & 13,000 0 13,000
oYz FUNXME Z2 I BAUS
13,000,000 14 13,000
FUSTAE 22 108,525 37,360 66,165
Sesllzla g2 108,525 37,360 66,165
402 212t X =01 & 108,525 37,360 66,165
01 QN EAMSE R (RHHH) 103,525 37,360 66,165
Ol Se=Xzla 21e2s
4,000, 000& *5& *80/100 16,000
oduc sasiz2d 2+
4,427,0002 x1S+80/100 3,542
oF=2c =N 2+
3.,800,000& *1=+80/100 3,040
oZdel s 2+
50,000, 0002 1= +80/100 40,000
odgel sagsiasd 2+
3,839, 000& *15+80/100 3,072
od=cl Sgsia2d 2+
7,200,000 15 +80/100 5,760
OJdXEZ| SN2 2+
13,599,000 1= +80/100 10,880
odgicl =Nz 2+
16,758,000 *15+80/100 13,407
oddic] Sg=Nsd 2+
9,779,000 *1=+80/100 7,824
OtSCti2 otE2sJ] A& 338,900 0 338,900
OtS2ES01(d &) 318,900 0 318,900
201 fet2 4| 11,900 0 11,900
01 At=2t el 11,900 0 11,900
OUYZ DHSOISI| ARE MALY
100,000 *3& *32 900
OO0tSLi2 OIS2t=J| Mg &8 &
200,000& #2001 2 #22] 8,000
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2 AXHE
X zH: =0| |
(==l I

=2l oo & g A&
9t OIS0 DI2RFSD| NI CEERE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
OO0IELI2 OIS2SJI MY 82 & 2SN
3,000,000& * 14! 3,000
301 LBtENS 7,000 0 7,000
12JEt2 &= 7,000 0 7,000
OOtSCLI2 DISYEI| MY 20128 X4 7,000
Ozl 3,000,000& *1JH 2~ 3,000
o2+ 2,000,000& =174 2= 2,000
o&d 1,000,000 *29H 4~ 2,000
307 212t01 A 300,000 0 300,000
02 QItHAAMNHEE 300,000 0 300,000
OOtELt2 Ots2=71 Mg XI&
20,000,000 *157H 4 300,000
HoPte B2z 08 2Y 20,000 0 20,000
301 LBtENS 20,000 0 20,000
09 AL HIXI &S 20,000 0 20,000
O=3tEH HIHA SHE 200,000& %1002 20,000
R0t.= S5 WUEI =5 1,757,195 1,021,400 735,795
= 6,500
< 386,635
= 1,364,060
=0t.=. 858 WU &= 1,757,195 1,021,400 735,795
= 6,500
S 386,635
= 1,364,060
wEIB(F.E 974,825 992,000 AN7,175
201 get=d 3,500 0 3,500
01 At 2te| 3,500 0 3,500
OstugA 70,000& 102! %52 3,500
202 044 2,000 0 2,000
01 =Woddl 2,000 0 2,000
ostnIA B 92 =3 ol
100,000& 221 %102 2,000
308 AHXIEHHMSOIH 969, 325 992,000 A22,675
07 XkXIEHA 29,325 0 29,325
OO WA XIFAH A2 RES
29,325,000& * 14| 29,325
08 w=J|2 940,000 992,000 A52,000
oun=s3gd 550,000,000& * 14! 550,000
o= Z0H 20,000,000 14| 20,000
OX =X 70,000,0003 14 70,000
O2IAA 60,000,0003 141 60,000
Ou=Hl X& 140,000,000 14 140,000




ol
=
2

SA

INPAR-:F=I)
3 RO0b.= &5 WSS &5
20l.=.55 ns=l =5 R S h
. - - N
SA - EHH . C(S) - MRAY - BAS S HI DS
| oun=s-4l X 100,000,000 141 100,000
sttE stuss B2l 3 769,370 0 769,370
& 384,685
= 384,685
308 AHXIEHHMSOIH 769,370 0 769,370
& 384,685
i 384,685
08 I 20Ut X 769,370 0 769,370
o&etd stugal X 712,968,000 * 14| 712,968
& 356,484
= 356,484
OZEF (R4)s42 D34 XY
56,402,0003 =14 56,402
& 28,201
= 28,201
TSEEWH U X AIEALE 13,000 29,400 216,400
= 6,500
S 1,950
i 4,550
307 212tol & 13,000 29,400 216,400
= 6,500
S 1,950
i 4,550
02 QItHAAMNHEE 13,000 29,400 216,400
OxS==suéd K& AS A
13,000,000 14 13,000
= 6,500
S 1,950
i 4,550
NI == 671,500 1,474,362 A802,862
ws=L &5 671,500 1,474,362 A802,862
A AM=EL 671,500 704,458 A32,958
201 fet2E| 11,500 8,460 3,040
01 AtR2telH 1,500 8,460 26,960
OXHIss 23| 1,500,000 14 1,500
03 eAHZ S 10,000 0 10,000
o2l Nsstd o 233 =l
10,000,000& 14 10,000
306 =EH= 640,000 637,000 3,000
01 &8d= 640,000 637,000 3,000
OYAPUTHS LIS B
640,000,000 * 14| 640,000
308 AHXIEHHMSOIH 20,000 46,898 A26,898
07 XXM RE = 20,000 46,898 A26,898
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M AHXSEED
HH: IS DS &=
o9t DS ns=X 25 EERE
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k||—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
OZ XA =& UHEXNEX ALY
20,000, 000& *14] 20,000
HMSISHA 2= 11,000 11,000 0
GMSISHA 2= 11,000 11,000 0
B 29 11,000 11,000 0
201 LetEdy| 9,000 9,000 0
01 At 2teltl 9,000 9,000 0
OBMEIE U MASSHH 29
9,000,000& * 14! 9,000
202 04l 2,000 2,000 0
01 =LHAYI 2,000 2,000 0
OWMIS AR = OiH|
100,000& 2021 %103 2,000
28 dAHze 1,000 0 1,000
Ng&A 2el 1,000 0 1,000
HHYE R =& 1,000 0 1,000
203 PR F2AY| 1,000 0 1,000
03 Al =X R =AY 1,000 0 1,000
O=32& & 2¥ ZHl 1,000,000 14! 1,000
OtM Z2|XH = 338,309 335,548 2,761
= 4,980
< 55,065
s 278,264
MU YES K2 316,809 334,048 A17,239
= 4,980
< 45,065
i 266,764
P=dUIR=18—g==pNEe 173,919 217,136 AN43,217
< 1,900
s 172,019
101 Q124 H| 49,479 48,096 1,383
04 JI2tHZ22EE+ 49,479 48,096 1,383
S=0| ot 2e| 2R elA|
68,7203 8H «90 49,479
201 LetEdy| 113,120 106,320 6,800
01 At 22|l 56,800 61,000 A4,200
et el HE AT+ ME 40,000 *100= 4,000
OdEML Hgas HNFH =8
70,0003 2002t 14,000
octdzte|?#sl FA =& 70,0003 *x42!+62] 1,680
OFBRANSE AHH HOISS
70,000 *421%303] 8,400
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SM: KRS E D
Ha: of® M 7S
Sl W RES X

o=

SA - GA(SA) - HRAY - BHES e HlmE2
oMt =22 M 1,250,000 =43 5,000
OMHH &S &l 280,000& x202] 5,600
OotdstlE=d =& 9,000,000 * 1A 9,000
OLZE MUOHHl HIA22 =4I
8,000& *303]*30H 7,200
QetMEHoIY A A&
8,000 20 123 1,920
02 =234l 56,320 45,320 11,000
OMCHHl CCTV Sl = 200,000 x40 A+ 128 9,600
OTMHOHE] CCTV MI|lE 15,000 *40) A +12& 720
OM 0l (F)E CCTV AIEE B
2,000,000& *404 A 8,000
O=SoffH HiaastsLd B
15,000, 000& * 14! 15,000
OYTAIEdE 222 250,000 x12& 3,000
OMHHBEAIAEH (SRS
20,000, 0003 »14] 20,000
202 (4 dI 2,000 2,000 0
01 =LHOA Y| 2,000 2,000 0
oML as =& & |A&el oyl
20,000& *2H *503] 2,000
301 LetE8NZ 7,720 9,120 21,400
< 1,900
o 5,820
09 HALAIHIXI A2 7,720 9,120 21,400
OoHE IO DIzt EIIR SAIXE
8,000& 20 x123] 1,920
OM=A EHILAG =4 8,000& *2502! 13| 2,000
oot orat XI& 20,0003 *194 *103] 3,800
= 1,900
= 1,900
302 OI=2LTHoH 2 A= 1,600 31,600 A30,000
02 QIZICITHOH L SRS EA S 1,600 31,600 A30,000
OMHer™ HEKAIHN s XA
800,000 *2J4 CHX 1,600
ot 2 2SR 2,000 2,000 0
== 1,000
= 1,000
201 LBr2Ed| 2,000 2,000 0
== 1,000
= 1,000
01 AL 22l bl 2,000 2,000 0
ootdze|HEH 2HAA 2,000,000& »14] 2,000
== 1,000
= 1,000
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b

M AHXSEED
M ord A 2=
el Muogas X2 (et &
% = o= &
SN B CR(BH) - MRAY - BES 0l et S HRE2
=0 AL &X 4,170 3,122 1,048
2 2,085
o 2,085
206 XH =4I 4,170 3,122 1,048
= 2,085
= 2,085
01 M=l 4,170 3,122 1,048
O=s0l AMAIE EXXF 4,170,000 *14] 4,170
= 2,085
o 2,085
ANZ 2HHHUHE s&EEd X2 5,790 5,790 0
= 2,895
o 2,895
201 et Fy| 5,790 5,790 0
= 2,895
o 2,895
01 At 22|l 5,790 5,790 0
OMttHSetMdst=I2d XF 5,790,000 14! 5,790
= 2,895
o 2,895
2=0| M2 QT o1AHH| 116,600 100,000 16,600
& 35,000
s 81,600
101 Q124 H| 116,600 100,000 16,600
& 35,000
s 81,600
04 JI2tM22 RS+ 116,600 100,000 16,600
O=s0| otMze|P 12|
116,600,000 *14] 116,600
< 35,000
s 81,600
TLHOIRS AL 2Hak AL 14,330 0 14,330
< 7,165
s 7,165
405 KHAHF SHI 14,330 0 14,330
& 7,165
s 7,165
01 Xt 2SFHSHI 14,330 0 14,330
OMHtMS A S| £
14,330, 000& » 14! 14,330
< 7,165
i 7,165
ot EolEs EEHS 21,500 1,500 20,000
< 10,000
i 11,500
OHMZ 32 S &bt 20,000 0 20,000
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M AHXSEED
M ord A 2=
chel: QHMZESIRE EE22st (el &3
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k||—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
= 10,000
s 10,000
401 Al HI L2 0HHI 20,000 0 20,000
< 10,000
i 10,000
01 Al&HI 20,000 0 20,000
Qe Z DAY & &X 20,000, 000& *14] 20,000
< 10,000
s 10,000
et EetesF=REos N 1,500 1,500 0
301 YPYBNZ 1,500 1,500 0
09 HALAHIXIE S 1,500 1,500 0
Oz8l HEMEWE ¥ Ht nsETAA X
50,0003 10 x32] 1,500
grgke ztel 618,926 511,985 106,941
= 190, 120
< 120,727
s 308,079
Qlgkel ey 2te| 283,216 272,342 10,874
= 187,976
s 95,240
gl g =d 6,500 6,500 0
201 LetEdy| 6,000 6,000 0
01 At 22|l 6,000 6,000 0
oY WEWM M 500,000& *33] 1,500
oglgel WE 24| 500,000& *32] 1,500
Oglgel AJ|W=s ZAHl 100,000& *501%33] 1,500
ofIYe BSXH S N
8,000& #2521 x53] 1,000
ongel 4 JIEdA 222 MHE
500,000& *13] 500
301 LEEF 500 500 0
09 HAtAHIXIZE S 500 500 0
oulgel 4 JIgdAL AL XN
50,000& *10H x 13 500
M ZLME X 276,716 265,842 10,874
= 187,976
s 88,740
301 YPYBNZ 276,716 265,842 10,874
= 187,976
s 88,740
0B AL ERRAB LS 276,716 265,842 10,874
OS2 (LHHERY) 20,000, 000& *14] 20,000
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= 2

ro e >

PR
2 2l
2 AILEH 29

. - - N
SA - EHH . C(S) - MRAY - BAS S HI DS
oS BSNE =S 5
20,0003 221 %403] 1,600
401 Al HIZL 20l 14,000 26,000 212,000
01 Al€Hdl 14,000 26,000 212,000
oYL ANES(S+= % B2AE)E=FH
2,000,000& *79H £ 14,000
2elBE AKX S 240,000 80,000 160,000
& 120,000
i 120,000
405 AtHakE S| 240,000 80,000 160,000
LS 120,000
i 120,000
01 MMM =EFSH 240,000 80,000 160,000
OSdetNS == N& € USF2AIE WA
240,000,000 * 14| 240,000
& 120,000
= 120,000
=235 dEAMHIA WS 928,272 362,541 565,731
dEANAE 2 282,272 351,903 69,631
JE2ANAE RAES 167,375 343,953 A176,578
201 2=yl 167,375 147,026 20,349
01 At=2t el 7,500 23,500 216,000
Oodite A2y BF 28 250,0008 * 30K 7,500
02 3323 159,875 120,496 39,379
OYYT MAFH SB RN2S
138,572,000% 14 138,572
Osgz1 ZZ2JH |2+ EEH|
17,855,000 %0. 14x1.1 2,750
od=ESta g2gs)l |2+ EFH|
39,377,000 +0.08+1.1 3,466
OFESUA RYHMAEX(PS) RANE+ B
Saha] 99,438,000 +0.08+1. 1 8,751
OHHANXE T2 RAE4 2|
48,000,000 0. 12%1.1 6,336
2AAH 2529 114,897 0 114,897
308 AHXIEHHMSOI S 114,897 0 114,897
10 SO S0IHetH & H IS AL I 114,897 0 114,897
O2LictAl&E 2 R 2=
19,534,000 14 19,534
OESIIEtAI A" 22| /IS 80,662,000 *14] 80,662
OMH= Al A cl P& 8,241,000 14 8,241
OBHEHTIAAL MTHE 29 9|
6,460,000 =14} 6,460
dHYE 2S5 73,550 0 73,550
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SN KX 83t
M H25 HFAMUIA HB
the H¥FE 25 CEEE
= = PSLE]
A -3 S9(30) - NISAY - B S HI DS
LHE 2 BHAAJAE D= 783,550 73,550
405 Kt S HI 73,550 73,550
01 XAt 2 Z 5 S| 73,550 73,550
O ATEYNH 2 30,000,000 =14 30,000
oL AL 7 8,000,000 *1CH 8,000
OZ=2HMA VIL ¢ 35,550,000 = 1CH 35,550
S0t Lt 191,100 0 191,100
2 859 0188 25 59,000 0 59,000
405 XHAES | 59,000 0 59,000
01 AIMLESFSHI 59,000 0 59,000
ogste &HXlI(Xelds 100Gbps) +&
59,000,000& = 1CH 59,000
29 854 0|ss 5 44,550 44 550
405 KHaHF S HI 44,550 44 550
01 ML EEFSHI 44,550 44 550
ogste HX(X2l&ds 106bps) &
44,550, 0002 = 1CH 44,550
HERIEZHAHAAE 24 0/= 23,640 23,640
405 KHaHF S HI 23,640 23,640
01 ML EEFSHI 23,640 23,640
OUIERKAATE 2 MO AIAE! Node License
62,0003 *22094 13,640
OUER/IAEZHAHAIAE HHNHIE
10,000, 000& = 174 10,000
HAKAE Ze|AlAE =2 40,590 40,590
405 KHAHF S HI 40,590 40,590
01 ML EEFSHI 40,590 40,590
OMARE22ANAE AH ATZENH 2L
25,740,000 =104 25,740
OMARAE 22| HAMB License #&
742 ,500& 204 14,850
INE B4+ 4 3,320 3,320
201 LEt2AH| 2,000 2,000
01 AtR222|H| 2,000 2,000
OMIAEES EEH| 2,000,000& * 14! 2,000
301 dEtENZ 1,320 1,320
12 J|Et2 A3 1,320 1,320
OMeIAEE s s 2 A 1,320,000 14! 1,320
0B 53 =848 ¢ 20,000 20,000
405 Kt S HI 20,000 20,000
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A XX E 0
XEH: A
(==l I

& g 2ot Z’i} (che &S
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
01 Xt 2 SFHSHI 20,000 0 20,000
oBYZS &FE P2 20,000, 0002 =14 20,000
HEBANAE otEH 235} 190,000 0 190,000
SetAH A 2 Fel 50,000 0 50,000
401 Al HI L2 0HHI 50,000 0 50,000
01 A&l 50,000 0 50,000
OUIEH A dIOIH ctel WXl SAt
22,000, 0002 =14 22,000
OUIEHD EYOI(EE) SAt
20,000, 000& * 14 20,000
OXI|l EHOI(BIL) SA 8,000,000 * 14 8,000
W22 HdBE 0158 5 70,000 0 70,000
405 KHAHF SHI 70,000 0 70,000
01 X&tL 2 SFHSHI 70,000 0 70,000
OUERA A<IXI(10 Slot) 7
,000, 0002 =1CH 48,000
OGigabit 2= (24 Port) 7€
14,500,000 =14 14,500
©10/100/1000 2= (48 Port) ¢
7,500,000 =14 7,500
ARL AHE 0I=s = 70,000 0 70,000
405 KHobFE SHI 70,000 0 70,000
01 XAt L =S SFHSHI 70,000 0 70,000
OUIERIT ALIXI(10 Slot) 2
48,000, 0002 = 1CH 48,000
OGigabit 2=(24 Port) #¢
14,500,000 = 14 14,500
©10/100/1000 2= (48 Port) ¢
7,500,000 =124 7,500
FMEIA MBS 191,350 10,638 180,712
HE BHOIX RXNE= 31,350 10,638 20,712
201 et Fy| 31,350 10,638 20,712
01 At 22|l 7,700 0 7,700
OZE= A& EH(HEE) & HOO0IE
1,925,000 *43] 7,700
02 2322l 23,650 10,638 13,012
O¥E SHOIX RAEx 29|
20,350,000 =14 20,350
O¥HE SHOIX 2EAMHIA 0lE2
3,300,000 =14 3,300
2uT g QY AE=E 2H 60,000 0 60,000
308 AtXIHHSOIA 60,000 0 60,000
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A XX E 0
g =235 dFAMHIA WS
[ A

Sl RAHIA RIZ CEERE
- _ _ A Ls
A4 (3H) - HEMY - BHAS Ofl AFoH |OT-|II£=IP°E” HlnE2
10 SISO USHE A AEAIS I 60,000 0 60,000
OYAZ SEHY AZS ERY
60,000,000& * 14! 60,000
UST =B AAIAER = 100,000 0 100,000
207 AR e 100,000 0 100,000
02 & AP EHH] 100,000 0 100,000
OYYZ HUOAERH
100,000, 0003 * 1A 100,000
383 DIt 43 425,330 352,493 72,837
JES g2EE d 425,330 352,493 72,837
T2 83 107,800 122,000 214,200
201 B2 HH| 107,800 122,000 214,200
01 AtR222lH| 107,800 122,000 A 14,200
o#yILE E S/W 2 107,800
O#HFHR2E HE S/W 2 (AutoCAD Map 3D
) 900, 000& =104 9,000
OsidAPE FE S/ R (LsSsr2otm)
30, 0003 =650 4 19,500
O#HFLR2E HE S/W 7€ (Adobe Photoshop
) 500,000 *20H 10,000
O #iygeg 82 S/W 2 (MS-0ffice 2019
) 450, 00024 * 10094 45,000
Oy HE S/W 2 (MS—winSvr CAL 2
19) 63,0003 * 1004 6,300
O#HFLRE HE S/W 2 (SHA NEO &t2)
90, 000& *200H 18,000
ARE PC B2 247,000 230,493 16,507
405 RHaHFE S HI 247,000 182,000 65,000
01 MIMNLEESFSHI 247,000 182,000 65,000
HREPC P (HEH) 1,300, 0003 *190CH 247,000
HLRE PC RAES 35,530 0 35,530
201 LEt2AH| 35,530 0 35,530
02 S3&gH| 35,530 0 35,530
OYULBPC FXES B
950,000 *680CH *5%=*1 . 1 35,530
ATELRIN 2AZIAAE & 35,000 0 35,000
405 Rt&HFE S HI 35,000 0 35,000
01 ML EEFSHI 35,000 0 35,000
OAXTEYH2ACIAIAE HAH 2L
5,000,000 = 1CH 5,000
OAZTEZ2IAIAE 0|0l & E (1000 User)
2 30,0002 *1,000H4 30,000
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M AHXSEED
HH: M5 K@
chtel: 2ol H235 KR (che &S
=] I . (S SAL . HAZ }OH HEAL =3}
Tkl'o—|'|_'l‘|(2|):")'k"—rA|'|=l'n_o—1 O:Hﬁﬁ O:H&.OH t”DLEI:I
23 K& 109,666 90,404 19,262
< 4,311
s 105,355
=2 FE3 KA 89,666 80,404 9,262
< 4,311
s 85,355
FE30s 2<Y 14,400 18,000 A 3,600
201 et gy| 8,400 9,400 A 1,000
01 At 2teltl 1,000 2,000 A 1,000
OZ LSS #AEH 22 X2
1,000,000 14! 1,000
02 5223l 7,400 7,400 0
OZEs0tS SHOIX 88 7,400,000 14! 7,400
202 04l 2,000 2,000 0
01 =LHOIYI 2,000 2,000 0
OXNHEEs HRFA ol
100,000& 221 102] 2,000
301 YPYBNZ 4,000 6,600 A2,600
09 HALAHIXIE S 4,000 6,600 A2,600
OX=E30tS AIAE &AL & s &N
200,000% 401 %53 4,000
230t Tt 84 31,036 32,340 21,304
< 4,311
= 26,725
307 212+01 A 31,036 32,340 21,304
< 4,311
= 26,725
02 QIZtBAAIEE X 31,036 32,340 A 1,304
OXE30tg T2 )ALt 84
15,518,000& 22! 31,036
< 4,311
= 26,725
B0t T2 22N S (KHA) 3,592 5,684 22,092
307 212+01 A 3,592 5,684 22,092
02 QIZtBAAIEE X 3,592 5,684 N2,092
OXFZs0tE Z2g2Aelh S4(8E3)
1,796,000& x2H 3,592
FES ST 249 22,000 24,380 22,380
201 LetEdy| 2,000 5,900 A3,900
01 At 2teltl 2,000 5,900 A3,900
OZESNSE 2| 2,000,000& 14! 2,000
301 YPYBNZ 20,000 18,480 1,520
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S H:
7(‘| il—l:
C|—O|:

o PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
2IIE 2 4= 20,000 18,480 1,520
O=0EEstu= A 20,000,000& * 14| 20,000
=23 nsF AIAE €0dI0l= 18,638 0 18,638
201 Zet=dhl 3,448 0 3,448
01 AtR2telH 3,448 0 3,448
OBt=CIA3A(1TB SSD) +& 360, 000& *2JH 720
OHRLIAOIE 2ZEON F
88,0002 *31H 2,728
405 Kok S4| 15,190 0 15,190
01 A =EFSH 15,190 0 15,190
O2ctRE =2II(i5 CPU) #
490,000 +31CH 15,190
d=23 g3 o4 20,000 0 20,000
A0IEEMEIAZA 20,000 0 20,000
201 Zet=dhl 20,000 0 20,000
01 At 22l 20,000 0 20,000
OADIEAIEl S2AHY =& 20,000,000 * 14! 20,000
28 oluetats 1,170,219 0 1,170,219
2SS JIEAE 22 532,559 0 532,559
2SN 2g2e 532,559 0 532,559
201 fet2E| 398,559 0 398,559
01 At 22l 5,000 0 5,000
OSAM ARHEE L FXH 2L
100,000 x50 4 5,000
02 3323 393,559 0 393,559
OUI0IE S4Y 3= 196,800, 0003 14 196,800
Os4g8uY d 114,800,000& 14 114,800
OFU&=tZEAYE MHIA AIEZE
10,000,000& 14 10,000
OUIEHIAZH FAE+ SAHI
227,400,000& %0.08+1.1 20,012
OUIERD 2=3dHl RA2+ S5
39,100,000& +0.08*1.1 3,441
O TIANLE B2+ S|
171,984,000% +0.08+1. 1 15,135
OFUSHEZ RXE2+ EHH
19,151,000& 14 19, 151
OGN LE FANES S|
4,220,000 14 4,220
OSAMEHIE+S 22l M=l
10,000,0003 =14 10,000
202 044 2,000 0 2,000
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A X E

Br: MUEM QEpEE
che. H2SA JIEAIE 29 EEEEE
- _ _ X L3
SA B ER(EH) - NRAE - BAS ofl o4 Gl HIDE2
01 =ZLHO Bl 2,000 2,000
OSAMANEEALY AISEHBA IR
20,000& *221x503] 2,000
401 Al EHILE0HYI 30,000 30,000
01 A& HI 30,000 30,000
OFUSalEHl &, B84 30,000,000 x14] 30,000
405 RHaHFE S HI 102,000 102,000
01 ML ESFSHI 102,000 102,000
OQIHYEB I (IPESID])7E 700,000 *30CH 21,000
OQIEHYEE D] 2toldA el
1,000,000& 14! 1,000
OGAZIAIAE 20 2= 30,000,000 *14] 30,000
O2d MAUSAAE 2= 50,000,000 14 50,000
S2AXAE L cCTv2el 637,660 0 637,660
CTVES St 2 HdEH 29 9,440 0 9,440
201 LBt AH| 9,440 0 9,440
01 AtR222lH| 9,440 0 9,440
OZHMHAEH A2 L JEFNHI 2
100,000& *3074 3,000
ZHHH =22 HE 5,000,000 x14] 5,000
OZNRA &AL =H 120,000 x12Y 1,440
CCTVE X & 22| 628,220 628,220
201 LEt2AH| 243,020 243,020
02 S3&gH| 243,020 243,020
OCCTVEXN I 22
100, 0003 *129H A== 1200 2 154,800
OCCTVMII22 15,0003 x 129 A 1201 & 23,220
OCCTVAIE &H| X2+ 9|
45,000,000 =1 45,000
OCCTVS & 4H| =& &L B
20,000,000 14 20,000
401 AIEHIL 2 0HY| 200,000 200,000
01 Al&HI 200,000 200,000
OCCTVAI 7 & X & A 200,000,000 x 14! 200,000
405 Kt S HI 185,200 185,200
01 MM LEESFSHI 185,200 185,200
ONMEZ2UIAMH 2 (120CH) 13,000,000 *2CH 26,000
ONME2H ATEYN 7L
6,700,000& *2Copy 13,400
OAE2IXl 72 (128TB) 25,800,000 x14] 25,800
OUERATEZH A AIAE 2=(1,000n0de)
50,000,000 x14] 50,000
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FA XIS
Hu: PSH oTetas
el SS2HAE 2 cCTvel (el &
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
OMARIE 22| =4 (500user)
35,000,000 14| 35,000
OAZtSIIat &2H 35,000,000& *14] 35,000
Y 2SI (HXIHE ) 42,725,974 41,452,494 1,273,480
=2 27,136
= 42,698,838
ol () 41,626,739 40,771,499 855,240
=2 27,136
= 41,599,603
olEH () 41,594,973 40,695,203 899,770
101 2124H| 32,620,261 31,216,311 1,403,950
01 E2= 28,375,969 27,356,535 1,019,434
C=1= 22,417,812
(OFSEE= 95,611,000& 12! 95,611
Og et 20,121,820
- 89,156,000% 12! 89, 156
43 86,461,000& »22! 172,922
—sENE 2 84,011,000 32! 252,033
55 78,966,000 »25¢! 1,974,150
-6 4,022,4003 16121128 7,771,277
=N 3,560,200 x 182112 769,004
-2 3,256,100 14501 x12& 5,665,614
-85 2,228, 1003 #6621 x12& 1,764,656
= 1,732,300& 802! 123 1,663,008
OH AL 3,505, 100& x4 1«12 172,565
OJlzsald 17,840,012,000& =0.028 499,521
ogz=2+g 18,339,533,000& /122 1,528,295
OJtE+g 297,600
Oof =2 20,0002 25021 x 122 60,000
Ot 2 At 40,0002 30021 x 122 144,000
(O NE 20,0002 30021 x 122 72,000
OXHAZFIIrat 60,000 »30¢!x 12 21,600
OXHSHIBE X+ 84,000
Onsstu 300,000 702! x43] 84,000
O=0t=a+g 850,000 x 1521 x12& 153,000
oes=fA=E 327,516
OllesRA=¢
3,597,500 x1801 * 12 +4. 1% 318,595
oJlzsalds 318,585,000 *2.8% 8,921
odz2+d Jtits 434,880
02501 & 130,000 *155Q1+12E 241,800
020014k 25 0]2t 110,000& 511 x12& 67,320
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FA XIS
I BY2AJH(NRIBF D)
el ol (2 YR) (St A2
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
O15E 014 20 0] 2t 80,000 »59¢1 128 56,640
O104014 154012 60,000 461« 12& 33,120
O5E0[& 10#0( 2t 50,000 60!« 12 36,000
S=Xz2exe 480
OEX 40,0002 x121%12& 480
CRI=I=t S 13,800
ozgs 50,000 x5« 12 9,000
Oss 40,0002 102!+ 123 4,800
OS+U2xg 301,752
OJlege=g 122,760
X2 60,0002 201 x12& 1,440
53 50,0002 90112 5,400
672 30,0003 *130L1x12& 46,800
NE=VN; 50,0002 x18L1 12 10,800
-8=0I36t 20,0002 »6501x 12 15,600
JIEAORS) 50,0002 20112 1,200
“IAHORES) 30,000 x00C!x 12 32,400
—&HHIIARE (OHAEE) 20,0003 %171 # 12 4,080
-Ng=2d 10,000 »2201x 128 2,640
-d &AL (3 0] 4t) 50,0002 401 x12E 2,400
oczgesd 14,760
—2| 2 A 50,0002 10!« 12 6,000
2SS A 50,0002 921 x12& 5,400
A= 20,0002 x14e1« 128 3,360
ogagesd 80,0002 401 %12 3,840
onlagesd 50,000 201« 12 12,000
OMAN=¢ 20,0002 x121%12& 240
g H2f=+g 70,0002 100!+ 12E 84,000
O&dd=+=¢ 2,112
58 & 552010t 50,0002 20112 1,200
-2 38,0002 »201 12 912
O At 7,440
55 80,000& 201 x12& 1,920
62 60,0002 121 %122 720
-7=0l3at 50,0002 82112 4,800
OAtzI =g+ 70,0003 502!~ 123 42,000
OMSXNHRE (Otet3)
30,0002 »35¢1x 12 12,600
oMes=As< 1,000,000 20112 24,000
oRHEsRASE 50,0002 921 *x12& 5,400
OsRHIE S 80,000,000 x10¢! 800,000
OodHZAHI 130,000 52421 12F 817,440
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FA XIS
I BY2AJH(NRIBF D)
Sl QS HH (YY) SREE
SA B SRA(EH) - MTAY - BAS 0f &t e 2
OYE RO 18,339,533,000& 0. 1 1,833,954
OS2 4HI
20,744,028,0002 «1/12& x15/30& 864,335
02 JIEt X 2= 1,643,640 1,585,016 58,624
OLLINM(ZaE - 2) 64,043
os2 50,820,000 12! 50,820
OAlZte 222 10,5092 191 %480A 2+ 5,045
ONE=g 1,440
- Xt 40,0002 x121%12& 480
JE 20,0003 201 x12& 480
-F2 20,0002 20112 480
O A Al 130,000 x 121« 12& 1,560
OS2 = 155,000& x 11«12 1,860
Ot 4l 50,820,000 +1/12& x15/30 2,118
OXHEHIE X+ 1,200
-nssn 300, 000! *121%43] 1,200
OYBIIIM(MEAY SHY Fayole e
seael o) 158,429
os2 41,560,000 32! 124,680
OAlZteZ2e+g 9,434 221480 Al 2t 9,057
OAlZte 222 9,434 * 121960 A 2t 9,057
OJt=E+g 2,400
—-HH Xt 40,0003 201 x12& 960
JE 20,0003 201 %12& 480
-F2 20,0002 401 %12 960
O Az Al 130,000 31« 12& 4,680
(OFSF= )b | 140,000 x21 « 12& 3,360
O¢IH2 Al 124,680,000 +1/12& x15/30 5,195
oFAMEES 374,082
Oos 2 2,926,500 x7 &« 12& 245,826
og=2+g 2,926,500 *7& 20,486
OAlIZF2#=5 9,434 x721+480 Al 2t 31,699
OJtE+g 5,520
- 2 20,0002 50112 1,200
- <Xt 40,0002 50112 2,400
-4 20,0002 82112 1,920
OogzZ+ght= 7,920
-2001&f 130,000 #3112 4,680
-154 014 20402 80,0002 20112 1,920
104014 154012 60,0002 121 x12& 720
-5E0l4f 104 012 50,0002 x1Q1%12& 600
OXHEHIE X+ 1,200
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FA XIS
I BY2AJH(NRIBF D)
Sl QS HH (YY) SREE
SA B SRA(EH) - MTAY - BAS e HIDE
-1Sstu 300,000& 12143 1,200
o=yl 50,0002 *7Q1x12& 4,200
Ollegesg 20,0002 *7Q1x12& 1,680
(OFSF=1=-E | 125,000 71+ 128 10,500
O=cl=4H] 45,051
-AHG A 130,000& #7112 10,920
-ES0H 2,868,200 721 %120% 24,093
-2 A 2,868,000& /30 »721x15& 10,038
ozazz 1,026,031
os 2 3,546,800& % 15Q1x12& 638,424
og=2+g 3,546,800 1521+ 100% 53,202
OAlZt2l =4 9,246 « 1501 x480A| 2+ 66,572
oortz2e+g 3,082 *5Q1+8A| 2+ *3652 44,998
Osgz2e+dg 74,3203 501119 44,221
OJtE+g 14,400
-F2 20,0002 x15& 123 3,600
- <Xt 40,0002 1521 %123 7,200
- 20,0002 x 151128 3,600
OgzZ+=ght= 16,320
-2020(&f 130,000 x8L1x 12& 12,480
-154 014 204 012t 80,0002 20112 1,920
-10=0l&f 15 Ot 60,0002 121 %12 720
-5E 04 104 012t 50,0003 201 x12& 1,200
OXHEHIE X+ 12,000
-1uSstu 300,000 x102!«43] 12,000
o=l 50,000 x5« 12 9,000
(OFSF==-E | 125,000& 1501 x12& 22,500
O=cl=4H] 104,394
-SAHS A 130,000 x 152112 23,400
-ES0H 3,021,800 1521 %120% 54,393
-GIOE A 3,546,800 *15Q1x15/30& 26,601
OLNE2Y FE= 1,403,606,0002 *1.5% 21,065
03 RIAHS=Z 2N E = 2,600,652 2,274,760 325,892
OSIIASA 0l 10,000,0003 =14 10,000
O=Z 013 2,123,869
oJles 2,260, 7173 %3421 x12& 922,373
ogz=2+g 1,220,213,000& /122 101,685
OE+gesd 90,000 »34C1 12 36,720
OoXg&=¢ 70,0002 *342!x12& 28,560
Oola+g 60,000 »3401 12 24,480
OofIg+g 100,000& 3421 x12& 40,800
OHM = el 1,220,213,000& /12&+2.5 254,212
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PADNE=LPS RN
HY 2L (RXIEE )
ol A (LAZ)
SN B S() - MBAY - BAS e
ON&E2Y 31,920
£ =2 20,000 x1521x12& 3,600
- < Xt 40,000& *3221x12& 15,360
R E 20,000 #3021 x12& 7,200
REIPIT=Y 60,000& *821*x12& 5,760
OF A ZAlH| 160,000 x34021x12& 65,280
OIAHE 21| 110,000 x3421 %12 44,880
OuEE 2| 140,000 x3421 %12 57,120
(@):FSE=N: ] 1,220,213,000& /128 %1.2 122,022
OAlZte 2224
18,416 *1.5%3401 x12& x20Y 225,412
OR8> 147,330 x3421 %15 75,139
OXHSHIE X 14,400
-NS&u 300,000 x1221 43| 14,400
o1l =l 500,000 x3421%13| 17,000
Os&aUZola=  49,994,976R x0.028+3421 47,59
OB RYEZ 1,783,707,000& *0.008 14,270
o=z RE3 1,783,707,000& *4. 5% 80,267
ols:2dg B2Y3 1,783,707,000& *1.5% 26,756
OHLEH REZ 1,783,707,000& *3. 120% 55,652
OIS BE&8= 55,652,000 7 .38% 4,108
ORJI|HLZ2Z =2 &8 Z 100,000, 000& 32! 300,000
o4 893,700
SEEES] 893,700
oz 500,000 x121x12& 6,000
orR== 450,000& =121 12& 5,400
O4= 400,000& =321 x12& 14,400
Ob53 250,000 x2621x12& 78,000
o6z 155,000 x165C! x12& 306,900
O7= 140,000 15021« 12& 252,000
08=-9=2 125,000 15421« 12& 231,000
NS 699,254
ANANHZ ,699, 254
©62  3,525,600&*0.978 & K| =+165021%1.2225 640,042
©72  2,997,500&*0.9& H Xl =+14921 1. 2225 491,402
O8= 2,490,000 +0. 9= & X| 2=+66C1x1.2225 180,816
©9= 2,117,200& %0. 9= & X| £=+9001 x 1.2225 209,651
OATRAL 3,262,100& +0.9 & K| 4=#401x1,2225 14,357
OXI & At
3,051,900 +0. 9= & X| 2=%18C1x1,2225 60,442
OHERZZE
3,030,800 *0. 9= & X| £=#2501x1,2225 83,366
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2 AXHE
I HYSAHH(KXHZ D)
ol A2 Y| (L A2) (A= &
SN B S() - MBAY - BAS 01l &k o e HlDS2
CEERERE
2,490,000 *0.92&8 & K| ==+7Q1 %1, 2225 19,178
304 AZRE3S 6,381,758 6,804,385 N422,627
(S E=R=g= 5,086,720 5,553,880 A467,160
O F=E=g= 36,498,728,0003 9% 3,284,886
OHZ2REZENMZ 36,498,728,0003 +1.636% 597,120
(OISR R = = = 36,498,728,000& *3. 1097% 1,135,001
OMoi2a2e32 36,498,728,000& *0. 191% 69,713
02 =01A2EE3 1,295,038 1,250,505 44 533
OHUBEHRES 36,949,600,5573 x3.23% 1,193,473
OIRABEZ 1,193,473,000& x8.51% 101,565
INESHHSEEAR XA (2124H]) 16,336 16,296 40
= 16,336
101 Q124 H| 16,336 16,296 40
= 16,336
01 8= 16,336 16,296 40
OQIIESZHSEANRARA 22|
16,336,000 *14] 16,336
= 16,336
A= Xl ol IR 15,430 60,000 A44.,570
= 10,800
= 4,630
101 Q124 H| 15,430 60,000 A44,570
= 10,800
= 4,630
01 2= 15,430 60,000 A44,570
OAtg=XolE olA| 15,430,000 *14] 15,430
= 10,800
= 4,630
ol 2| (XX A D) 470,842 363, 106 107,736
olzt2 o) (XX H ) 470,842 363,106 107,736
101 2124 | 470,842 363, 106 107,736
01 2= 187,071 170,925 16, 146
oOxU22E 166,464
Oxz=22Y 10,5093 x2521 %480 A 2t 126,108
OHIMgESR+& 10,509& *221 x960 A 2+ 20,178
o2 10,509& *221 x960 A 2+ 20,178
OXXMIANNFE S 20,607
OAlZtela=Y(Soietat2E X ME THAZ R
) 11,4012 #1911 %852 A| 2+ 9,714
OAlzZt=Z(etsdlese MAI2LA)
10,509% * 121480 A 2+ 5,045
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FA XIS
M AY2ITH(ANXBEH DY)
ol QIS I (KX BH ) (ol ®8)
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
OOf2tr=E (St S LR HE THAZRN)
3,800 101 +960A| 2+ 3,648
OFY+LY(SHAMSYRIME TIA2LK)
91,6482 *1Q1 %24 2,200
03 2o HAZ 2 NHE =+ 283,771 192,181 91,590
OLHZ 2 oHLY 102, 866
oJlzs 2,140,460 x201x 128 51,372
og=2+g 1,070,230& 221 %23 4,281
OAIZF2 =5 13, 1543 x2Q1%360A1 2tx1.5 14,207
OgE=IHI 1,284,276 #201%23| 5,138
Og A Al 130,000& =221« 128 3,120
Oxe+g 140,000 x21 x 12& 3,360
O&dd=¢ 110,000& x21 x 12& 2,640
Oola+g 60,0003 201 x12& 1,440
Ol =l 500,000 x221%13] 1,000
ONE=g 1,440
- < Xt 40,0002 20112 960
- 20,0003 201 x12& 480
OS2 & 105,2353 201 %15 3,158
OSAAD OIAt0l At
33,534,072&+221%0.028 1,878
O=08Adzs 3 46,518,000&+22!%0.045 4,187
OlE2E fE3 46,518,000&+22!+0.015 1,3%
OAZEE FE3 46,518,000% »221+0.0324 3,015
OoEIIeY 288 1,508,000%221%0.0851 257
O&THEE FES  46,518,000& »221%0.0105 977
ounsgR 90,083
oJles 2,121,580 201« 128 50,918
ogz2+g 1,060, 7903 #201%23] 4,244
OAlZt2l =4 13,0553 #2201 %120 Al 2t+1.5 4,700
O &= 1,272,9483 x201%23] 5,092
O A A 130,000& x21x 12& 3,120
OFE =] 140,000 =221« 128 3,360
O&d+g 110,000 =221« 128 2,640
Ooolz+g 60,0002 20112 1,440
ONE=g 960
- Xt 40,0003 201 %12& 960
OS2 & 104,444 20115 3,134
OSdg= AdolaH
33,284,856& x221+0.028 1,864
O=8ds 23 40,736,000 +22!+0.045 3,667
OLlE=2E fE3  40,736,000&+22!%0.015 1,223
OAZEE FE23 40,736,000% »221+0.0324 2,640
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S XX E D
M AY2ITH(ANXBEH DY)
Sl QlESHH(RAEE D) el @)
SN EB - SAEA) - MTA - BES e s
O&EIIRY E88  1,320,000& »221+0.0851 225
O&THEE FE3  40,736,000& »221%0.0105 856
OFESHS R ,667
oJles 1,977,260 x101x12& ,728
ogz=2+g 593, 1783 +121%23] , 187
OgE=IHI 1,186,356 *121%23] ,373
O A A 130,000 x 121« 12& ,560
Oxe+g 140,000 x 121« 12& ,680
O&d=¢ 110,000 x 121+ 128 ,320
Oola+g 60,0002 x1Q1%12& 720
ONE=g ,640
- < Xt 40,0002 x 121 %12 480
- 180,000 x 11«12 ,160
Ot At 96,0652 x101 %152 441
OSAAT larofatey
37,528,000& «12!%0.028 ,051
O=8ds 83 37,528,000&121%0.045 ,689
OlE2d |3 37,528,000&+12/%0.015 563
OAZEE FE3 37,528,000% 121x0.0324 ,216
O&FIIRY 288  1,216,000& *121+0.0851 104
O&HEE FE3  37,528,000& *121%0.0105 3%
OYESUYREX , 155
oJles 2,075, 1703 11« 128 ,903
ogz2+g 1,037 ,585% *101%23] 2,076
OAlZt2l =4 12,8123 % 1Q1%240A| 2t+1.5 4,613
O &=l 1,245,102 *121%23] 2,491
O A A 130,000 x 121« 12& ,560
OFE =] 140,000 « 11«12 ,680
O&e=¢ 110,000 x 11«12 ,320
Oola+g 60,0002 121 %12 720
OE&0 10,000& *121%1202] ,200
ON&E=g .440
—HH Xt 40,0002 x121%12& 480
-4 80,0002 *x11x12& 960
OH It & 102,500 x 12115 ,538
OSdg=s AN
32,672,2443+121%0.028 915
O=0Hz FE3  44,456,000&+121+0.045 2,001
OLEEE FES  44,456,000&+121%0.015 667
OHZEE FES  44,456,000& x121+0.0324 ,441
OFIIRY 288  1,441,000& »11%0.0851 123
O THEE FE3  44,456,000& 11%0.0105 467
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PPN =Rl
HH2IZHI (MR L)
Jl23I(AUXIEE ) (el &3
SA SR (S) - MRAY - BAS e RS2
23U (XXIHE ) 276,433 255,729 20,704
Jl2Z (XIS Dt 276,433 255,729 20,704
201 et gy| 110,608 105,894 4,714
01 AL 22l bl 58,608 53,894 4,714
O 2Bt==ZH| 34,200,000 14 34,200
© =l 11,808,000& 14 11,808
O Xtz 12,600,000 14 12,600
02 2322l 52,000 52,000 0
© 2322 % HAl 52,000, 000 * 14 52,000
202 04| 41,800 37,500 4,300
01 =L YI 41,800 37,500 4,300
OYR=& JI20 | 41,800,000 =14 41,800
203 HRF&H| 124,025 112,335 11,690
01 J| 22 RFAH| 96,000 85,000 11,000
OIS 63,000, 000 * 14 63,000
OJ|&AB8S2 33,000, 0002 =14 33,000
02 BRI RF=AH| 22,745 22,295 450
©1002! MK 80, 000& 1002/ 8,000
©1002!1~3002! Mt X 60, 000& x2002! 12,000
©30121~60021 DtX 45,0002 612! 2,745
04 EN2SLRFAH| 5,280 5,040 240
OFAM2IHRFEH| 440,000& =128 5,280
Jl2ddl(ge) 351,960 62,160 289,800
Jl2dgl(g¥ez) 351,960 62,160 289,800
204 MR AH| 351,960 62,160 289,800
01 A g H A 63,360 62,160 1,200
o= 650,000 x 11«12 7,800
oRz2+ 400,000 =1Q1x12& 4,800
043012 (sLIIsdHAE)
400,000 «1Q1x12& 4,800
O4Z22 X2 (JIE LA E GO A HE)
350,000 221« 12 8,400
OS5z 7|2 (BHAE SHE)
150,000& 721 =128 12,600
Os3EX=J I (21, &H&2,93/2, MIE3, o
dIEZ=1,AIE1) 100, 000& 202! 123 24,000
Qudl=Zz=sUHE 80,000& *12I %123 960
03 SEYRZHI 288,600 0 288,600
OLANEEESRE 80,000& 62! 123 5,760
ONSREEESRE 100,000& 1921 %123 22,800
O Fg=g=g=r | 150,000 421 x12& 7,200
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